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COMMERCE
(Honours Generic)

Answer the Questions from any one Option.

OPTION-A
(Microeconomics)

Paper : COM-HG-1016

OPTION-B
| (Investing in Stock Market)
Paper : COM-HG-1026
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION-A

( Microeconomics)

Paper : COM-HG-1016

1. (A)' Answer the following questions .

1x5=5

ool o Teg ol ¢

@)

(i)

(iti)

(iv)

What is the shape of dema{nd'

curve, if Ed = .

I Ed = « T, (9T 5ifdwl [IR Spfe
(IR 2
Mention a property of indifference

curve.
faeer® IR <1 of et |
What is production function ?
Tesma T e B g=me

Draw AR and MR under perfect
competition.

o eferaifienER @ AR wiF MR

(S RIRC ISR |
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(v) Who’s name is associated with

Revealed Preference theory of
consumer behaviour ?

T TR A5 “CGOR TR

(i
(B) Choose the correct answer :  1x5=5
% Beol ARF 4 ¢
(i) ‘Price of the commodity is the

factor of Demand’. (True/False)

T W TR B o ,
| (o/ %71

(i) Total cost is the summation of :
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(a) Total Fixed Cost and Total
Variable Cost

(b) Average Cost and -Marginal
Cost _ S
(c) Real Cost and Money Cost

(d) Selling Cost and Opportunity
Cost

T I79 T (TR

(@) IR 9 ARET T 3
(b) T T O @i

(c) oF JW < @ I

d) R&EF I =S TR W
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OPTION-A
( Microeconomics)

Paper : COM-HG-1016

1. (A)‘ Answer the following questions :
‘ 1x5=5

o] oS Beg i g

() What is the shape of demand

curve, if Ed = .

I Ed = o T, (3T 5IRA @RI AplS
(PR 2?2

(i) Mention a property of indifference
curve.

e (FUR < o S =
(iii) What is production function ?
T Fom o [ e

(iv) Draw AR and MR under perfect
competition.

4 AREASRET 781w AR wi% MR

SEIRCKC DI
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(v) Who’s name is associated with

Revealed Preference theory of
consumer behaviour ?

IS Wa%rwa 5V OGOIR CTRS
I ?

(B) Choose the correct answer : 1x5=5
7 VG0 AR I ¢
(i) Price of the commodity is the

(@)

factor of Demand’.  (True/False)

?WWMWWWW
‘ OWW
Total cost is the summation of :

(a) Total Fixed Cost and Total
Variable Cost : ‘

(b) Average Cost and Marginal
Cost

(c) Real Cost and Money Cost

(d) Selling Cost and Opportumty
Cost

@WWMW

(@) 5 R IT oF P RSN 7
(b) TG I WF 2T T

(c) o4F© JT S 4l I

d) RF I =% R |
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(iii) What is the root cause of Economic

Problem ? (v) Oligopoly market means -

(@) Inve,:stment (@) competition among large
(b) Saving firms

(c) Scarcity .

(d) Population (b) competition among few firms
ST TV 24 IR 2 (¢ competition among few
' buyers
(@) RFcas | @ v X

‘ | competition among buyers
(b) TR ' : and sellers
c) VeSSl _
; d)) Sl 7 eferfieonER TR (xR
N\ . i -
C -} PPN Twre @[ efeaive
(iy) If the price of Lux is falling relative @ =
to Rexona, then the demand for | (b) T AT JFNTT WS (A
o afscaifret

(@) Lux will increase

(b) Rexona will increase | (o) TNIRYF AR WSS K

(¢) Lux and Rexona will increase e

(d) Lux and Rexona will decrease (d) (&l S frwrer wEe @@
3 FER N (@A WA Z T, -

(TS DI =i 2. Answer the following questions : 2x3=10
(a) T3 M3 we TR ed fuml ¢

(b) AR A3 (a) Mention two important properties of
(c) = AF (AR Ao indifference curve.

(d) = AT QR I AR s @R 75 & T =0
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3.

(b) Mention two conditions of expansion

(c)

(d)

(e)

path.
e S 7B 56 a1

State two assumptions of Revealed
Preference theory. .o

vmmﬁkma'ﬁaﬁa'@@ﬁnazﬁwvm%mﬁvnﬁﬁﬂn

Write two measuring methods of price
elasticity of demand.

wasﬁaaafaﬁwnﬁ¢azﬁ#vﬁbm*svmﬁsﬁ#mu
Define normal good with example.

EMEEWﬂiamaﬁﬁsamavnwaﬁhnu

Answer any four questions given below :

5x4=20

were fAdl Rzt iAot emR Bas fordt 8

(@)

(b)

Explain the possibilities of price

~ discrimination under monopoly market.

GIEST G TARCSHITTR FSRATOR
R s 310

State and explain the cross-elasticity
of demand.

siRnR fofe e Sam sk I A

e st L ATAATS ITOVRE I -4

R

(c)

(d)

(e)

Analyze the prisoner Dilemma’
approach under oligopoly market.

w5 AfSCaReREe IE fRrEmE igeeT
watst RoeFd 3|

What is economic efficiency ? How can
it be explained under monopolistic
competition ?

. oo TS TR e T2 T

iR RTAPET TETS #IR A, S
el ‘

Discuss deadwefght loss under
monopoloy market.

HEE TR JORE A R
STetoal 90 |

Mention the fundamental assumptions
of perfect competition.
°ffﬁﬁﬁ?ma€mﬁﬁﬁiﬁﬂ3§<§ﬂﬁF5“ﬂ%RW¥ﬁ
@20l TE |

Answer from the following questions :

10x4=40

o HPATRDH Ted fondl 3

(@)
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What is producer surplus ? Discuss
producer surplus in terms of average

variable cost curve and demand curve.
' ' - . 2+8=10
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(b)

@amﬂ@aw?ﬁmﬁsqm?%ﬂﬁﬂﬁa

T @A T HIEA QR NGAS BARFIT

Tge e 1A
or / &

Discuss equilibrium Price-output
determination of firm and industry

under perfect competition. 5+5=10

e ARSI T&TS TR 2fb o
OB SIFAIST WIS S IR “AfRwie fRefas Raw
GBS T4 |

Distinguish between fixed cost and
variable cost. Explain short run total
cost curve in terms of FC and VC.
3+7=10
R 7 oI% RIS IR Ny oryeat|

% I WIF AfRREPNT TTT NGHI TR
I I @ Ko =1
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(c)

(d)
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Oor / 534!

- What is long run average cost curve ?

Explain it in terms of short run
averages cost curves. 3+7=10

IR 5% IJT @ IoE B o e TR
4T T (FAF MYAS 3[R TCEAD T4 |

State and discuss the laws of return to
scale in terms of isocost line and

isoquant curves. 3+7=10
I A F FA-ARAT TR MR Ao
<ot S IR im0

Or / 94t

What is oligopoly market ? Mention its
basic features. Explain price leadership
model under such market. 2+3+5=10

7 iR @R NE & 3= |9 A4w
RRERR SE | O ISR e WR-
FTY TG I F4 |

Discuss income effect and substitution
effect in terms of price-change. 10

1 ARAER Mg Y Rt o Ras R
R Sena 4
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Explain consumer equilibrium in terms | Investing in Stock Market)

of indifference curve. ' Paper : COM-HG-1026
Wi RCA I ST 1. Answer the following questions : 1x10=10
l .
were Al ey el i s

(a) Which of the following options is not
available in India ?

—_— were Al et Rew oo o1l 7z
- : i) Commodity futures (&3 ©RT®)
l [ (i) Index options ([5! &)
(i) Index future (o1 ©Rare)

(iv) Commodity options (@3 R3%)

(b) Which of the following statements is
valid for mutual funds in India ?

TR AT HeR A were fTa R
fe a4?

(i) Entry load is allowed
A (FIISR SRS
(i) Exit load is not allowed

P (TS Ste A 7=
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(c)

@)

(e)

(iii) Exit load is allowd in some cases
Rega (IS 2 (AT SRS 7l 2
(iv) Entry load is not allowed
At (e SEpe T w =

Forward contracts are traded only
through stock exchange.
(Whether the statment true or false)

] = (Cfethr e @ 9%)

Insider trading can be
(illegal only/ both legal and illegal)

BAGIRCR I |
(SL%/ (99 BT WY FEANDI2)

The sponsor of a mutual fund is similar
to the _-

of a company.

(i) director
(i) shareholder
(iij) promoter

(iv) auditor
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F——a

9

)
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We{wq&z’maﬁ@wﬁa_a
NS | ,

() TS

(i) T

(i) oRET

(iv) o ATHS

Commodity derivatives are usd only for

hedging. _
(Whether the statment true or false)

7 TEh W @ (R AR TRE W
(Sf&Th! TeT A ©%)

When was NIFTY (National Stock
Exchange Fifty) established ?

@fom NIFTY 3w 8% Ritm Relh) gom
= oafeee

) 1992

(i) 1998

(i) 1996

(iv) 1994

Write the full form of CARE.
CARE 3 % Soitht forat|
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@

0

Derivatives trading on equity broducts
were introduced in Indian capital
market in June (2000/2001)

T G 89S TEH (TRt A IR SIS
FER RS R G TS 9 3
Rl © (R000/%00))
On which date SEBI made compulsory
trading of shares of all the companies
listed in stock exchangé in ‘demat’
form?

@sm“mmﬁm SEBmwatﬁatvmm

EA0TR IS OIRRIgS (EARPTRIR Ters.

7 IR AOEE I W
i) 2nd January, 2000

Q Wﬁ 3000 B
(i) 1st April, 2002

s feie, 2003 B

(i) 1st April, 2005

s ¢fg&, Y00¢ 5
(iv) 2nd January, 2002

’ Q Wﬁy R00R be
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2.
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Answer the followmg quest.lons in not more

than 50 words each

2x5=10

Wﬁmmwmeoﬁmwﬁms
Teq s

(a) What are the major stock indices in

()

()

(d)

India ? _ .
SR BF 5 A4 APITTR [ [
What is meaht by the term
‘investment’?

Rivc e & e

Mention two advantages of investment
in mutual fund.

AR <Jfere Rivcasi 75 R4 S =11

What is meant by stock order ?
B3 woR e B g@e

Give the meaning of the term
‘derivative’.

BB e e
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(¢) Discuss the various sources of financial (g) Briefly explain the mechanism of
information needed to take a sound trading in currency derivatives.
investment decision.” - - - g Raizrese @ IFIRR e I
mﬁmﬂﬁmﬁﬁmwﬁﬁamm =i
Rfon oI ﬁ@ﬂ SUR B T ST () What is company analysis ? Who are
4| | the user of company analysis ? Discuss.
o 3+7=10
(d) 1.3rieﬂy discuss the various types of o : T o ﬁs? @ﬂ“"ﬁt RN
investment avenues available for the ‘ ’ TR T L T
investor. , ‘
RRTLRITR I Soter Rifow e Rzt
CFTR TR SEo |

(e) Describe briefly the various types of
mutual funds avallable for 1nvestrnent

ﬁﬁmﬂam@mﬁf\wwm
?Ifx?ﬁﬂﬁa'c@a@awn |

() What is derivative ? State the
advantages of derivative trading. Who
are the participants of derivative
market ? 2+4+4=10

fEaizrele a1 O R 52 Tgh a1t Raizrelbe
TR ARAPE & e Beh a1 Ralree
TG AHEATPIPTR e
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(c¢) Discuss the various sources of financial (g) Briefly explain the n:1ecl:1anism of
information needed to take a sound trading in currency derivatives.
investment decision: - - i ) - Ogs A Reizrelbe @ AT FE T
1% RiNcaet Fraie @bt a=d 3R s @Rt =i
Rfen o ﬁ@m SUR B H=ITE Sigairsal () What is company analysis ? Who are
=4l | the user of company analysis ? Discuss.

. 3+7=10

(d) Briefly discuss the various types of o : @i B ﬁs? m RegR

investment avenues avaﬂable for the | JRRTFI FTe (@2 JIY 3|

investor. .

ARG T St Afom et R F

CFR RFERG SN 1) + B
(e) Describe briefly the various types of l

mutual funds available for 1nvestment

RiRTIR A Goer Rfow oo Sordin

sffer g 39 =

() What is derivative ?\ State the
advantages of derivative trading. Who
are the participants of derivative
market ? 2+4+4=10

fEarzrslve 31 85 7R &2 Ogs a1 Raizrefts
IR RAPR [ e Bes a1 Rafsrefs
TR AHATIFIIR P2
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